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2. (30pts.) A3kg object out in space is subject tootforces,F, = 4N at 150° and
F, = 7N at 115°, where all angles are measured in degrees from the/ep@sikis.
There are no other forces ofyakind acting on the objectAt time t = 0s, the object is at
Xo = =2, Yo = 0, and is moving withelocity of2 nvs in the ngative y drection.

a. (20pts.) Whatare thex andy coordinates of the object at 557?

b. (10 pts.) What are themagnitude and direction (measured in degrees from the
positive x-axis) of the vector giving the position of the objedt at5s?
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2. (30 pts.) A 3kg object out in space is subject to two forces, ﬁl =4N at 150° and
ﬁz =7N at 115° where all angles are measured in degrees from the positive x axis.
There are no other forces of any kind acting on the object. At time ¢ = Os, the object is at
X9 =-2, ¥y =0, and is moving with velocity of 2 m/s in the negative y direction.

a. (20 pts.) What are the x and y coordmates of the object at # = 5s?
_
/’\
F. 4 F-4@ Is0°
fr =7 @ | (s°
’7 /h = -;zu. g{u =0

N‘?‘—_ 0 A=~ &

e W-meewc y 'WM

7 Fx =may Fg,“-rma(j
Hemiso +7 catls = 38 Haom 158° +77 nin 165° = 36@(7
- — A MNF= &

Q_73 m/a.t —_'_07

LJ

| 2
Aot o, k4 20k ) Yoo eyt e, t™
n=-a+0 +1( Q)5
L (3

A= o - a(s) + (275')(5

L Nete: Mot pecple whe tried t'simplify " tha preblem by lockins
] { f
at other uﬂjftJ (such as andle Fram Y-@da N b agm. nd ga Fne x - an cu)
fjui‘ ;— = g }&7 % L;(' {'c.'J'T l-i';‘.( Cas der ‘*T' J- vy r ,’;‘r 7.’.’ i S ,}_}!/_J('t. ’ J )

b. (10 pts.) What are the magnitude and direction (measured in degrees from the
positive x-axis) of the vector giving the position of the object at ¢ = 5s?
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